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SARDAR PATEL UNIVERSITY

[}] ~2 zj Third Year B.Com(EXTERNAL) EXAMINATION
Saturday, 24th July, 2021,
Cere) | 10.00 A..M. t0 12.00 P.M.

Business Finance (BF-301)
_ ‘ Total Marks: 70
NOTE : Figures to the right indicate full marks of each question.

1{a) What is Business Finance? Explain Importance and Objectives of Financial 14
Management,
- (b} Explain the Meaning of Financial Planning. , 4
OR
1{a) Explain the Meaning and Causes of Under-capitalization. 9
(b) The Capital Structure of Sadhana Tech Ltd. is given as below: ' 9
Sources of capital Book Value . Market Value Cost of capital
Equity shares 15,00,000 30,00,000 15%
Preference Shares 3,00,000 2,55,000 12%
Retained Earnings 4,50,000 = —meeeee- 13%
Debentures 10,50,000 " 9,75,000 10%

You are required to calculate weighted average cost of capital using:
1. Book Value Weights and
2. Market Value Weights.

2(a) Give the Meaning of Cost of Capital. 5
(b) Explain the Merit and Demerit of Shares and Debentures as a Long Term 12
~ Sources of Finance. '
OR
2(a) Salasar Tech. Ltd. is planning for expansion of plant. For expansion Company 12

requires Rs.18,00,000 and can be finance by one of the following Three
alternatives:

{a) Issue further Equity shares of Rs.10 each at par.

(b) Raise Term Loan at 11%.

{c) Issue Preference shares at 12%.
Present Equity paid up capital is of Rs.36,00,000 and average annual EBIT
is Rs.7,20,000. Assume income tax rate is 50%.After Modernization EBIT is
expected to be Rs.9,00,000 p.a. '
Calculate Earning Per Share under the three financing options and find out
which alternative is giving highest EPS.

(b) Write Short Note on: Importance of Leverages. 5
3(a) What is Working Capital? Explain the factors those are affecting the ‘ 9
requirement of Working Capital.
(b) What do you mean by Capital Budgeting? Explain the Significance of capital 9
Budgeting. '
OR
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3(a) What is Capital Structure? Explain Various Types of Capital Structure. 9
(b} The Capital structure of three Companies are given as below: 9
Capital Structure X Y JA
Equity Capital 1,50,000 5,00,000 10,,00,000
12% Debenture 2,00,000 3,00,000 nil
15% Bonds nil 2,00,000 5,00,000
The EBIT for all the companies is Rs,2,00,00 a year.
You are required to : X
1. Compute Financial Leverage for each of the company.
2. If Operating Leverage is 1.5 for Co.X, 2 for Co.Y and 2.5 for Co.Z,
Compute Combined Leverage for all Companies.
Also comment on results.
4 Sadhna Co. is considering investing in a project requiring capital outlay of 17
Rs. 50,00,000.
Forecasted Cash flows after taxes and before Depreciation (CFAT) is:
Year CFAT
1 15,00,000
2 20,00,000
3 28,,00,000
4 22,00,000
5 10,00,000
Evaluate the project by using: :
1. Pay Back Period 2. Net Present Value 3. Profitability Index.
( Cost of capital is 10% )
OR
4 Write Short Notes on: \
1. Functions of SEBI. 7
2. Accounting Rate of Return Method, 5
3. Short Term Sources of Finance. 5
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